Solution Key:

Find the y coordinate of the centroid of the USB key below.  


	Part
	Area (in2)
	yc (in)
	ycA (in3)
	

	1 (big rectangle)
	2” x  0.75”  =

1.5 
	0.75” / 2 =

0.375 
	1.5 in2 x 0.375 in =

0.5625 
	6 pts 
(2 pts per cell)

	2 (small square)

	0.5” x 0.5” = 

0.25
	0.125” + 0.5”/2 =

0.375
	0.25 in2 x 0.375 in = 

0.09375
	6 pts 
(2 pts per cell)

	3 (circle)
	  x ( 0.25” / 2 )2 =

- 0.04909
	

0.25
	- 0.04909 in2 x 0.25 in =

- 0.01227
	6 pts 
(2 pts per cell)

	
	

	
--
	
0.64398
	2 pts 
(1 pt per cell)



	
	 3 pt for final calculation
(1 pt for equation, 1 pt for calc, 1 pt for units)




